ALGEBRA | ACTIVITY 14:
ﬁ"““ PYTHAGOREAN THEOREM WITH EQUATION

SOLVER
Tlalgebra.com

ACTIVITY OVERVIEW:
In this activity we will
e Enter the Pythagorean Theorem into Equation
Solver
e Use Equation Solver to find missing lengths in
right triangle problems
s HUM CFx FEE
Equation Solver can solve an equation in several [,
variables for zero given values for all the variables but e |
one. i fMing
7 fHax
Srnberiuc
Press [MATH][4] to locate 0: Solver... and press [ENTER]. ?.SEFI { hit.
cluer...
Given the Pythagorean Theorem a’ + b® = ¢ written in EEUEIEIHIEI_FEE“:EEE
the form a? + b? — ¢? = 0, the Equation Solver can find a, = =
b or ¢ given values for the other two.
Use the key to help you enter the equation as
shown. Press [ENTER].
The screen shows the three variables and a default HEtEE_CE=E‘
boundary of a really small number to a really large E:El
number (-1 x 10% to 1 x 10%). In some situations I:;EI
when there would be more than one solution, you can baund=+ -1e99. 1
set different boundaries to indicate which solution is
desired.
Ac+EBe—-Ce=A
Test the Equation Solver with something for which you E:E
know the result to verify that you have entered I:;l
everything correctly. Type in values of 3 for A and 4 for A
B. Move your cursor next to C. bound=4+-1g3%, 1.
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To solve for C, press [ALPHAJENTER] (green “solve”

RE+B:—-LZ=0
H=23

command above the “enter” key). The result of “5” is & E;%
the expected result. Now you can use the equation hound=7 -1 99, 1
solver to solve several problems with Pythagorean s ] eft—t.=H
Theorem.

AZ+Ez-CE=@
The straight distance between home plate and second AH=424
base on a baseball diamond is the hypotenuse of a E=901
right triangle. The distance from base to base is 90 =
feet. To find the hypotenuse, enter 90 for both A and bound=+{-199.1..
B. Delete the value for C. left.—rt=H

AZ+Ez-CE=@

H="2H

Move your cursor beside C, press [ALPHAJENTER]. The
distance from home plate to second base is about

E=9A
n C=127. 279228651 .
bound=4< -1e99.1...

127.3 feet. = ]eft—-rt=H
AEZ+EE-LCE=H
A=18&
The base of a right triangle is 18 units, and its E=R
hypotenuse is 22.5 units. What is its height? Enter 18 C=22.5
for A (or B) and 22.5 for C. Move the cursor beside B bound=+{-199.1..
(or A). left.—rt=H
AEZ+EE-LCE=H
A=18
Prgss (ALPHA]ENTER]. The height of the triangle is 13.5 P E;%%' 432I32233..
units. hound={-1g39.1...
w ]left—rit=E
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